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0.3x—a=0.5x+29] OHE ool

x—5 9+ 2x
3 4T3
3(x—5) =24 - 2(9 4 2x)
3x—15=24—-18 — 4x
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La=3
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Sox=-25




4 f(x) = (x2] k59 AS) 9] x 9 Fhol 9, 10, a ©]1L, y 2] gho]
3,4, 64w, ot 5 a o FOoR HIHA] L2 ALY
@ 12 @ 8 @16 @ 6

® 18

( ) 9] Zto] 3 T 4 E= 6 2 WEsof 2t
2) = (129] oF2} ) = 6
8

@ r(1

@ f(8) = (89 ok /) =4
® £(16) = (164 oF4:9] 744:) = 5
@ £(6) = (69] o5 AA4) = 4
® f(18) =

(189] oF=9] A4) =
. &seghol y o] ghell £317] g

6
A2 @0t




11.

e
£
o
i
S
lo
N
o

oy = gx o] 2Tt A (<12, b) & A
F5hd?
®-15  ©@)-s ® s @ 18 ® 0

A(p.q) 7H 8 y = ax+ b T 919] Holeka x 1ol p .,
y HAlell ¢ & st sS40 el

5. q=ap+b 7k Rt

e 2

b= 3><( 12)

webA b= -8 olc,




12.

Zo|7} Z+2F 120 ¢m, 160 cm Q] SUR7F Qlth, Al 4o As o5&
et e Bio] glo] BE 7 Zolo| SRS ghE T Fht,

7Ps3t S 71 71 Aol A2chy 3 o, 2 B § o] Zol9t
BUR A5E 87 BAE ALY

& 7ol S 2ol [ 7ol s
@) 40 cm 770
© 40 cm 12 74
© 40 cm 4074
@ 12cm 7
@ 12cm 127
> E
>EE: 9

12031’]' 1609’] —Z—]/\——ﬂ‘ H 4[)(3m0]1:li 7]_ —é__ 7]_1‘;,_ Z_] 721
ol 40cmol T, 27t 370, 4 WS RS 4= Qirt.

et £ 7709 BUHRE A4S 5 At




13. [15] £ 158 92 ¢ 7P 2 A5olth o i [-1.6] + [5.6] &
Al4FsHA?
@ -1 @ 2 @3 @ 4 ® 8




3+
1—[%+(5+{—6 +7}}x\:|:16
{%4‘ 5)}><D 16




15. A x+4(x+1) = -10 - 2x & =2
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